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T TERHT@ AN foTHCe A | ePead ToF AR RHAT ACACR | 2T TR Aere AIel R TRGCS T |
2{fofB STsa 4 T | ePleteTl ST S SO AT TR | FTPATR FALIC S 77 &R &y |
*k SRR #fT 2R3 e e/ The word “number' means whole number or integer.

Y. Wi« [ F2: Find the value of:1+ 1

1+1
3. 2, 11, 2011971 7312 GAfeTS 7T | 2x201193R 1120113745t 57 PTie T Z?
2, 11and2011are prime numbers. What will be the GC28R011and11x2011?

1+

O, (SN AN 30 Yfers 1005 =1 Sty @A AfS 0T 1 @{F 100 O3 WA @ &I QF(6 7T =TT
(Tterey el e fom foq et @21, FUCAT 98 AT L1 25 ST T 21e I 7 1) (SN e Zeerl-
@t YT @A GFB GF(0 IR T QeI | FORTAT 9T (Ol 77 G [AFbe 2re #AI0a (@ g S¥s GF(0 e Qe
Q@BTS (e A=A 1412

There is a basket in front of you that H&¥ balls numbered frorth to 100 (each ball has a different number). You
are asked to pick balls from this basket randonithaut looking. After picking how many balls canwbe sure
that you have chosen at least one even-numberi&d bal

8. 3> fagw AITe 20 fagelBy @ @IC 12 IR T @I G A1eH Ay Sl TG 200 T | S
@ fager IITe 512 T foqb A2 A7 =F a, 31 @R a + 1, @A a TE 1 93 (6T I G0 A7 1 a @9
T AT TS 2 AE?

To form a triangle, the sum of lengths of any tuaes has to be greater than the length of the oBwgrpose that
we want to form a triangle with sidas31 anda + 1 wherea is an integer (or whole number) greater tharfind
the minimum value o&.

@. ST 3T @I @B AP I W2 TLA SN O G 72T 21 @Be e A @ A S
e A AR 1 @ 4 @7 I SR @ 2x2=4, [Fg 5 @3 @A IE @21 1 (*F 100 788 1005
FRATR WA FA AT I SACR?

We say that a number has a ‘square root’ if we éindther integer which gives us the first numbenultiplied by
itself. For example4 has a square root sin@x2=4, but5 has

no square root. Out of tH®H0 numbers froni to 100 how many

a b b a

integers have square roots? . /
a a a b
b, AR BCS 432 IF Foid (AT A0z M a = 543
b = 122 OIFE ¢ O3 IF ([T F9 | TN B T SQQ&s
b

qSH INCFa | b b R
In the diagram, the same square has been reprdsentg/o

a b a b

ways. Ifa = 5andb = 12in this diagram, find the value of (the
white rectangle in the second diagram is a square)
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You can very easily check that sum of three cortsgxintegers is three times the second numberil&igm sum
of five consecutive numbers is five times the thitdnber, sum of seven consecutive humbers is dawes the
fourth number and so on. What is the smallest eugnber that can be expressed as sum of three ctiveec
integers, sum of five consecutive integers and siso of eleven consecutive integers?

. (IS 5 AW 38 4 7R ST ST ©Itd 3Tty feten 23 ©d Wi 3 x 4= 127118 s [orey = |
QAN 48 7T 3, 4 @R 12 7 ey | {58 =6 =y 3w 3 ¢ 6 =1 ey ferey =1 wea @i 3 x 6= 184
fRsrica ooy 2re8 AR, 8 Te A1 1| @ 54 ¢ 60 TorAz 3 8 6 7 sty fqerey, 8§ ama TRt vy 54
7S 18 @t faerey | f i Aman F40e A &= «fb w062

If 3 and4 individually divides a number, theBx 4 = 12also divides that number. For example, alBpo# and12
divide 48. But if a number is divisible bg and6 individually it may or may not be divisible b$x 6 =18. For

example, both 054 and60 are divisible by8 and6 individually, though onlyb4 is divisible byl8. Can you explain
why this happens?

5. QI WA FACICOR 22 ABCT AT AfSTAIN SR 2rers AfSTINT Y 9FAR TR (A | IF(6 TG &

S 41, § 1 SR R T TSI (AT AT 3, 1AM —1 ATAB IR 7M1 | 2N ACC A0 (Al ol

e ARSI ACHR (B 201 TACACS T 2ARSTRIN Seiaze Fafer?

In the first round of a chess tournament, eacheplalays against every other player exactly oncplafer getss,

1 or -1 points respectively for winning, drawing or losiagnatch. After the end of the first round, itasifd that
the sum of the scores of all the player@dsHow many players were there in the tournament?

A: 3IfF 2Iead IR AN(B AF 0 (ST FAT |

so0. A,B,C,D,E, F = =& (RN AAA B: A 30 G TG |

2TSIHA T 11 (ACF 16 @7 TRt fog fog o1 € C: 3ifF ~fivea g5 T2 5 wer Nerita ey |
3 F ReTsIR2 1y et e, 6g i sraees e D: E 0T A @ (00 2 I=CH 9 |

o Aoy Ul '@ < FE LT 2 A0 | ST E: A, B, D ¢ E 3 99019 {8 «<5fD fawerre a1em
ST T T TR 1 2 i s F: i #beteas I90id o118 5 =4t W ereiea oy |

e 39 (i) C 8 F 93 I0TE T8 97 (i) (19 736 07 FA ICA? (jii) A 8 E @3 I3 9?2

A, B, C, D, E, F are six children of different ages in the rangé&bfo 16. It is known thaC andF always speak
truth whereas among the rest two are truthful &edther two lie. When they are asked about thggs athey
replied as follows-

A: The sum of the ages of the other five is an even D: E is elder tharA by two years.

number. E: The sum of the ages Af B, D, E is an odd

B: A is the eldest. number.

C: The sum of the ages of the other five is divisibl F: The sum of the ages of the other five is divisibl
by 5. by 5.

Find out:(i) What is the sum of the ages@fandF? (ii) Which two among these six children li@® What are the
ages ofA andE?
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